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How Testwise Are You?

The bower can cause the gumble to mast because
all bowers are don.

gumbles usually vint.

bowers must sumple

no gumble will yert.

The jumple will wanik when

the vertle krulls.

The amders are vrel.

The madar wimples and causes ternix or lomption to occur.
The hamnic tops the vormat.

The function of the hinter in vornex process is to add
dousts.

brmiles.

practels.

hintermoss.

The raver will seam with a
portar.

everil.

octer.

umbra.

For which reasons did the zamoc kareen?
The poner oozed mapid tarbin.

The naven moped and the savil borthes.
Most werts bamped after tavling.

Few tabils became novtols.

Which (is,are) never present when lempens are being vexed?
Ram and krem

. Krem and mommel

Tevar and krem

Krem.

The seaming function of the portar is most effectively used in connection with
a nova brig.

a raver.

the notrin.

the nimmer tag.
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The total profit for Grezzle, Inc is less than
10 million.

8million.

5 million.

1 million.

The pavin will typically estivate in which of these situations?
When the jab strikes the vap

When the voble mavils

When the betam is whant

When the rapple torks, if the rapple is galled or twizzled.

10. When exposed to yambs, the limpa will

A.
B.
C
D



Key and rationale
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9.

B because it has “wiggle room.” The other choices are exclusive

C because it’s the longest answer

D. because it is a word made up of a form of the word in the question.

A because the article a only goes with that one; the rest would require “an.”
B because it asks for reasons (plural) and that’s the only answer with plural
choices.

D because the question uses never and the is, are thing is to distract. They really
wanted to just put is, but couldn’t be so simple.

B because it is the same as question 4 but reversed.

A because if you are doing “less than” pick the highest number and that
eliminates the others perforce.

D because it allows for flexibility since the word “typically” is used in the
question.

10. 10. C because C is the most used letter in multiple choice tests. It’s the best guess.

More multiple choice games:

Guess at random and see what your percentage looks like.
Use B for every one and see what your percentage looks like.
Eliminate one and then guess and see what happens.



